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QUESTION 1

Node cl-02 needs to fail over for scheduled maintenance. The node has NAS LIFs on it. The failover needs to be non-
disruptive to the NAS clients.

Which command accomplishes this task?

A. system node halt —ofnode cl — 02 —inhibit true

B. system node reboot —ofnode cl — 02 —inhibit—-takeover true

C. storage failover takeover —ofnode cl — 02 —bypass —optimization true

D. storage failover takeover —ofnode cl — 02

Correct Answer: C

The aggregate relocation can be avoided during this takeover instance by using the bypassoptimization parameter with
the storage failover takeover command. To bypass aggregate relocation during all future planned takeovers, set the

bypasstakeoveroptimization parameter of the storage failover modify command to true.
Reference:http://www-01.ibm.com/support/docview.wss?uid=ssg1S7004761andaid=1

QUESTION 2

You create an SVM named svm?7. Its DNS name is ntap7. In svym7, you create a volume named voll with a junction path
of /users.

An NFS client would mount the root of voll using which path?
A. svm7:/users

B. ntap7:/users

C. ntap7:/voll

D. svm7:/voll

Correct Answer: A

QUESTION 3

A clustered Data ONTAP 8.2 Infinite Volume can share an aggregate with an FlexVol volume.
A. True

B. False

Correct Answer: A
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QUESTION 4
What communication link is necessary in order to establish an inter-cluster relationship?

A. The cluster interface on each node must be able to communicate with the intercluster interface on each node in the
both the source and destination clusters

B. The cluster interface on the source cluster must be able to communicate with the cluster interface on the destination
cluster

C. The intercluster interface on the source cluster must be able to communicate with the intercluster interface on the
destination cluster

D. The intercluster interface on the source cluster must be able to communicate with the cluster interface on the
destination cluster

Correct Answer: C

https://library.netapp.com/ecm/ecm_download_file/ECMP1197114

QUESTION 5

In clustered Data ONTAP 8.2, which of the following commands will restore an entire volume

A. volume snapshot promote

B. volume snapshot restore

C. volume snapshot resync

D. None of the above, just use the .snapshot or ~snapshot directory to restore the entire volume

Correct Answer: B
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